
Converting EER to Cooing-EIR 
 

 
where: 
CAP = total cooling capacity (Btu/hr) 
EER = ARI Rated Energy Efficiency Ratio (dimensionless) 

 

 
 

 
 
eQUEST maps the Wizard input for EER to DOE-2 BDL (COOLING-EIR) using the 
following equation: 

COOLING-EIR = (1/EER - 0.012167) / ((1 / 3.413) + 0.012167) 
where: 

the constant 0.012167 = (365/1000) * (400/12000) 
 
Relationship between EER and SEER 
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Air Conditioners Heat Pumps
Example Systems Slope=0.9
EER=SEER*0.778+1.4

Number of Units in Sample = 12898

 
 


